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Cantonment Public School and College Momenshabhi
Class: One, Subject: English, Session: 2022

# Word meaning + write in English

Right =T«

Left =3I
Ground = gfi/afi=
Sky = =i

Bird = =f¥
Insect = TolI<T
Kite = gf©

Lamp =3ifs
Draw ==
Take = &t
Come =91l
Rain =372

Crow =%
Pond = 9F4
Tree = '

Plant = Sfen/srri
Black = =ieeT
White = mr
Brown = Iwrst
Red =#e1

Quilt = T

Rat = 3v7

Kitten =fRwre =t
Sun="x¢

Cot =415

Tap =T
Umrella =%rst
Van =s5aaiife
Stick =15
Water ==ifa
Yoke = (&S
Say = 9=1!

Read= #Ier
Trace = fofee w41
Look = &4t
Listen= ¢t
Letter = S5/
Write =011



Alphabet =<t
Count =91 =<1
Spoon =56
Foot === “Ter
Class = cifer
Dirty = (I<s
Street = 91

Sea =

Near =R/
Wall =twaie
Stone =14
Hold ==

Boat = i
Clock = ©f%
Cloud = &9
Clean = »fT®i@
Glass = a1

Star = o[l

Stair = fif

# Sentence Making (278 Word &% W @ @i A5 19 Fresis 1 1)

Look = Look at the moon.

Jar =This ia a jar.

Bag = Take your bag.

Net = That is a net.

Live = | live in Mymensingh.
Pencil = That is a pencil.
Cow = This is a black cow.
Sun =The sun is hot.

W N e WNE

Coat = | have a coat.

[EY
o

. Pick up = I pick up a book.

[EEY
[EEN

. Zebra = see a zebra.

[EY
N

. Tiger = | see a tiger.

. Middle = The boat is in the middle of the river.
. Children = We are children.

. School = Our school is big.

S T O T S Y
o U b~ W

. Make = | make a cake.

[EY
~

. Pull = He is pulling a boat.

[EY
(o]

. Speak = She is speaking.
. Doll =1 have a doll.

N =
o ©

. White = Sugar is white.



# Re-arrange the following jumble words.

pac = cap
dgo = dog
fihs = fish
gaot = goat
ehn = hen
raj = jar
keit = kite

noom = moon

W e N e WNE

X0 = 0X
-gge =egg
. abg = bag
.atr=rat
. tteeh =teeth
. tpo = pot
. dhis = dish
. sheo = shoe

R R R R R R R R
N O Ul W N RO

. Waetr = water

[EY
oo

. yoek = yoke

. gril = girl
. wonem = women

N =
o ©

# Oposite words

Given word Oposite word
1. Big Small
2. Young old

3. Tall Short

4. Fat Thin

5. Cold Hot

6. Clean Dirty

7. Thick Thin

8. Long Short
9. Black White
10. Happy Unhappy
11. Open Close/Shut
12. Hard Easy

13. Right Wrong
14. Top Botton
15. Tick Cross
16. Smile Cry

17. Pull Push

18. Town Village
19. Left Right

20. Up Down




@ Word a3 (&9 T, I8 A1 218K 7T (@R, ©ItF Number 3t 959 AT | Number 42 4919 |
- 1) Singular Number
2) Plural Number

1) Singular Number @™ Word @@ % W@ 9f&, 38 ar aifits @R, ot Singular Number 3 @& 59 I |
@<9- Boy, Girl, man etc.

2) Plural Number®@ Word %= @& @3 SIf4s I3f%, I8 1 A1t @RI, ©ItE Plural Number 3t @& 6+ 0T | (@99~

Boys, Girls, men etc.

# Number Changing

Singular Plural
Boy Boys

Girl Girls

Cat Cats

Doll Dolls
Apple Apples
Orange Oranges
Toy Toys

Day Days
Glass Glasses
Box Boxes
Bus Buses
Ass Asses
Mango Mangoes
Potato Potatoes
Fish Fishes
Dog Dogs
Bamboo Bamboos
Child Children
Ox Oxen
Tooth Teeth
Goose Geese
Man Men




# Translate into Bangla + Translate into English

Lo N WDNPRE

W N NNNNNNNNNERIERIERERERIERLRERPRPEPR P R
O W 0 N O U1 A WN P O OWOLNO U DA WN P O

The wall is yellow = 3= =57 |

The floor is blue = GRS et |

The basket is on the table = 3T GREDGT TaF |

The bottle is uner the table = &= G=Ha [ |
The dog is near the girl = 35 JfeIGa WG |

He is a thin boy = T7 943G “TSe! I |

The man is unhappy = GG 72T |

The ball is in the black basket = 3= ST 3feHw | Ty
Please stand up = 73l $ WITIS |

. Please sit down = WHFE 97 |

. Pick up the book =335 ¢owT |

. Draw a picture =935 =< =% |

. Writ a word = @3f5 *= fore |

. There are three oranges on the plate = 2= foqG e =R |
. There is a book behind the radio = @©eb7 (e 43 32 =R |
. There is a picture on the wall = =t @3 &R AR |

. It is beside the orange = it FwETIBF 21T |

. He is in front of the girl = &1 qifeIa A |

. There are three birds = @It foafs #/if¥ =itz |

. These are hens and those are ducks = ©3&fe 27 @ € Qefer 77 2FT |
. These are cats and those are dogs = «@3afeT 271 Ko w3z def 20 $59 |
. They are in my class = ST S @it |

. They are my pupils = SR SIN< T@-21& |

. He is walking = T 25tz |

. She is running = T MTEITR |

. He is swiming = &1 3@ S50z |

. They are working= Sl & F(Z |

. They are not shouting = o1 fosaE FACR 1 |

. They are laughing = 191 TR |

. He is pulling a boat = &7 @1 il 5= |

# Dictation

o v kA wWN e

Come here.
Take your bag.
He is a farmer.
He is a teacher.
This is a stone.
This is my nose.



7. ltisa chair.

8. lItisabowl.

9. ltisaschool.

10. It is a pear.

11. The girl is on the seat.
12. The red ball is in the box.
13. He is eating.

14. They are singing.

15. He is wearing a hat.

16. The boy is catching the ball.
17. It is night.

18. What time is it?

19. Rice is white.

20. Bread is white.

# Spelling

Hat, Black, White, Red, Green, Yellow, Brown, Point, Knock, Clap, Shout, Plate, Chopstick, Touch, Come, Go,
Phone, Lay, Coat, Dish.

# Rhymes

Counting cats (English for Today)

1,2 (English for Today)

1,2, 3,4, 5 (English for Today)

Ring, ring -------- phone (English for Today)

P wnNe



FIBACT AR T A FCEAS TR
@fa: e, 5w Affe, e™E: 0%

Y | LT 8 T e (I (@d-d00) AF®

€> = 9Fg
@R =y
@9 = fomrg
@8 = 5l

@G = 71y
@b =Rl
@q = Aelg
@b = BIg
&d = TTa
Yo = qI5

LY = GG
2 = G
Yo = (7%
L8 = (bafS
Y6 = S
LY = TRIG
Yq = ST
Yy = FGIT
Uy = TPTeR
qo = Aeq

Qy = GIFMeF
R = qIRNed
qu = fezes
a8 = pAed
Q¢ = “foreq

R | SCF 8 T o (JETw) (51-100) #15%

51= Fifty one
52=Fifty two
53=Fifty three
54=Fifty four
55=Fifty five
56=Fifty six
57=Fifty seven
58=Fifty eight
59=Fifty nine
60=Sixty
61=Sixty one
62=Sixty two

$q = AONH2

o5 = fFaewg
Yoo = §F* &

63= Sixty three
64= Sixty four
65= Sixty five
66= Sixty six
67=Sixty seven
68= Sixty eight
69= Sixty nine
70= Seventy

71= Seventy one
72= Seventy two
73= Seventy three
74= Seventy four



75= Seventy five 88= Eighty eight
76= Seventy six 89= Eighty nine
77=Seventy seven 90= Ninety

78= Seventy eight 91= Ninety one
79= Seventy nine 92= Ninety two
80= Eighty 93= Ninety three
81= Eighty one 94= Ninety four
82= Eighty two 95= Ninety five
83= Eighty three 96= Ninety six
84= Eighty four 97= Ninety seven
85= Eighty five 98= Ninety eight
86= Eighty six 99= Ninety nine
87= Eighty seven 100= One hundred

7
9 | (& YT (€R-Y00) RS
@3, 8, Y, &b, Yo, LY, U8, WY, Uk, 90, A3, 98, QU, 9b, ko, b, b8, kY, b, Ho, B, 58, BY, B, doo

RTINS (AT (ST LT AW F9 |

F) @), €8, €9, Yo, LY, ¢, Y
Te: €8, Yo, by, Y

q) @), €e, Cbr, Y8, LY, Us, O, ¢
TEH: @), Gb, U8, LY

M) @Y, €5, Vo, Ye, 0, A3, 99, bro, b3
Ted: @V, 90, 9%, bo, b

) &b, U8, bq, Y, qU, 99, bo, b8, b
TE: b, 8, A, bo, b8

8) 48, 99, b, bR, bre, brq, o, DY, 5
Te: a8, 99, b, bR, 5o, dY

[Rag: R Efon & TSI (NI FRAYT ST F IFMT 55f F4C3)

8 | RTete 7T (€3-55) 7S
@Y, @9, GE, €, €5, LY, VO, LE, b, Y, 93, 9V, 9¢, A9, B, brd, b9, bE, bq, bb, 5, DY, BE, Hq, db

06T AT (AF RCSHG AU ST 9 |
TF) @), €8, €9, Yo, U8, Ve, Uk, Y, 43, ¢
Ted- TG AT €3, €9, be, Y, ¢

q) @), @9, Cbr, YO, LY, Uk, 9¢, 95, b8, b
Tea- ST 7T @0, Lo, q¢, 95, b

M) €8, @¢¢, Cb, LY, VY, ¥q, O, b, 95, b8
Teg- fRTee 7wl e, LY, La, A9, S

q) @Y, €, U8, Y&, bb, 99, Y, 95, by,
Ted- ST AT @b, Ye, 99, 95, b

¥) LE, Y, 99, bo, b9, by, b, DY, Bd

Ted- [T 7T ve, A9, b, b, dS

[T i 2Eoq Ty WS RTSG TR AT Fe IRT 55f T3]



¢ | TNIBT T 7Y (5-d0) o=

AT TQIPEP I EREE T
S, &y T
2. [ESES X
o, TR oY
8. vod 8
e. Aoy e
v, ™ %)
q, ST QI
br. SEn b
5. T S
S0 Lt So¥

Y | (T (AF I AT 772 (€5-d00) *FE

I) A¢, @Y, Y, Ho, Lo, b8
TET: @Y, VO, Y, ¢, b8, 5o
q) @, e, €9, L, 90, ¢8
Te: @, €8, €9, Uy, e,
) vy, b, L4, B, be, €9
TEd: @9q, L, LY, b, bre, B
q) 53, b8, €&, 19, Y, bk, doo
TE: ¢, Y, 99, b8, b, 5, Yoo
8) ], L8, by, A¢, €5, VY
TE: @R, &b, L8, LY, ¢, by
B) 53, by, 99, L8, Y, 99

TG @Y, L8, 49, 99, bR, B
®) €9q, Y, DY, ¢, b9, B¢
TE: €9, b, ¢, b9, bE, Y
R @eg e oof T4

q | IT AT @6 AT 712 (€>-d00) 7

J) @5, Vb, 4], @Y, b, Do
TEd: bo, br@, AR, b, @Y, @
q) qe, by, Y&, 5, @9, Ys
TE: B, by, ¢, Ud, YE, ¢
M) Ly, 99, B, b, Yo, bo
TET: 5, bb, bo, 99, Yy, Yo
q) @Y, »rq, Y9, Soo, 99, Lir
TEd: Yoo, brq, 9, Yk, YO, CY
¥) b9, 98, 83, €, b, LR, b
TET: db, b9, 95, 98, YR, ¢¢, 8%
B) q, @b, 59, b, 98, Yo
Ted: 59, bq, 98, U, Yo, ¢




®) ¢E, 99, b, U, 5E, &5

TER: e, 5, b, U, A9, ¢

) 5¢, 98, bo, by, YE, 90

TET: e, by, bo, 98, 0, L&

[R5 *AFIF & S I 56f F20d]

b | ST (R-30) #{®

IXd=x O X =9 8 X 5=8
X 3=8 O X =Y 8 X =V
X O=Y O XO=p 8 Xw0=3
I X 8=k O X 8=3 8 X 8=y
I X ¢=%0 O X =3¢ 8 X &=0
X V=3 © X u=3b 8 X u=38
3Xq=38 © X q=3) 8 X 9=3v
IX b=y © X b=38 8 X =93
I X = O X 5»=39 8 X 5=90Y
3 X So=X0 O X Yo=90 8 X yo=80
e X>=¢ L XY=y QX y=9
@ X3=%0 LX =33 QX 3=38
€ X90=3¢ Y X 0=3v qX9=13
@ X8=30 YX 8=38 QX 8=3b
e X =3¢ L X =90 QX e=9¢
€ X v=90 b X Y=Y QX u=8
@ X 9=9¢ YX q=83 qX 9=8%
¢ Xvy=80 Y X =8V QX br=¢Y
€ X>=8¢ Y X 5=¢8 q X d>=v9
@ X do=¢o Y X Yo=Vvo 9X3y0=90
b X d=b dX =6 Yo X =do
b X =Y »X =N Yo X 3=%0
b X9=38 »Xv=219 Yo X9v=vo
b X 8=9% »X8=0Y Yo X8=8o0
b X ¢=80 »Xe=8¢ Yo X¢=eo
b Xv=8% »Xv=¢8 Yo Xv=vo
b X 9=¢Y »X q9=v9 Yo X q=90
b X =18 > Xb=9 Yo Xb=bo
b X5=9% SXo=bd Yo X'5=5o

b X do=vo > X do=bo Yo X So=doo



> | G I (TS N @R)

(5) :+8= (R) 9+o= (©) 8+3=
(8) ot+e= (€) b+r= (Y) 90+a=
(9) ¢+8= () S+5= () 8+8=
(>0) ¢+e= (5) 2+b= (3R) o+o=
(59) btd= (38) S+3= (5¢) s3+e=
(5Y) S_+4= (59) S>+5= (Sb)>8+90=
(5%) Se+d= (R0) Y+d3= (RD) S+db=
(R) o+38= (R9) >o+8= (28) So+b=
(R@) €+do= (RY) o (R9) 8
+¢ +Y
() o (85) 5 (90) St
+5 +2 +5
(CH Y (o) 8 (99) v
+8 +%0 +0
(o8) 3% (o€) 5 (ov) 2N
+Y0 +obr +3¢
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